
ENIGME EN ANGLAIS 

During a parade, there are five flags of five different countries. Each colour has 

its corresponding number and each number always represents the same colour. 

The flags are as follows :  

  Country n° 1 :  1  -  3  -  2   Belgium : black, yellow, red 

Country n° 2 :  5  -  3  -  2    Ivory Coast : orange, white, green  

Country n° 3 :  6  -  4  -  5   Guinea : red, yellow, green 

Country n° 4 :  2  -  3  -  5   Ireland : green, white, orange 

Country n° 5 :  5  -  4  -  2   Italy : green , white, red 

Mali : green , yellow, red 
 

Match each number and its corresponding colour. 

Which of these following flags is not represented ? 
 
 


